E{m':h

tang wind = gradient wind{m/s), HROQOMMOO

1B

s wax=e10711  Distance from center (km)

E{m':h

cvl agrad FHR=000

tang wind = gradient wind{m/s), HROQOMMOO

1B

s wax=e10711  Distance from center (km)

E{m':h

tang wind = gradient wind{m/s), HROQOMMOO

1B

s wax=e10711  Distance from center (km)




3500

MIN=—4 FENRS WAK=2 175350

tang wind = gradient wind{m/s), HROOIMMOO

¥

&0

o 120

Distance from center (km)

150

180

T
210

240

3500

tang wind = gradient wind{m/s), HROOIMMOO

cvl agrad FHR=003

¥

&0

WIN=—4 71503 WX =2, 1086

o 120

Distance from center (km)

150

180

T
210

240

tang wind = gradient wind{m/s), HROOIMMOO

%
WiN=—4 B3TES WX =2 12163

&0

o 120

Distance from center (km)

150

180

T
210

240



3500

MIN= =5 SO55E WAK =D R85

tang wind = gradient wind{m/s), HROOEMMOO

¥

&0

oo 120 1%0 180
Distance from center (km)

T
210

240

3500

WIN=—5 07812 Waix=2.72013

cvl agrad FHR=006

tang wind = gradient wind{m/s), HROOEMMOO

~T T~

3 0 o 120 150 180 zin 240
Distance from center (km)

tang wind = gradient wind{m/s), HROOEMMOO

3
MIN= =5 14544 WAK=3 53305

&0

oo 120 1%0 180
Distance from center (km)

T
210

240



3500

WIN=—% 08041 WX =2 5736

tang wind = gradient wind{m/s), HROQSMMOO

T

3 0 o 120 150 180 zin 240
Distance from center (km)

3500

WIN=—4 %218 Wax=2 62183

cvl agrad FHR=009

tang wind = gradient wind{m/s), HROQSMMOO

¥

0 o 120 150 180 zin 240
Distance from center (km)

tang wind = gradient wind{m/s), HROQSMMOO

1000 h’ﬂ_——-—-\

% 0 90 120 1%0 180 210 240
MINZ -5 2328 MAK=Z BART Distance from center (km)




cvl agrad FHR=012

tang wind = gradient wind{m/s), HRO12ZMMOO tang wind = gradient wind{m/s), HRO12ZMMOO tang wind = gradient wind{m/s), HRO12ZMMOO
3500 . 3500 . 3500
T3 0
300 ] 300 ] 300
: :
2500 2500 2500
' '
o= 2000 [5 % — 2000 [ < — 2000
£ ; E. g E
e} e} e}
1500 |, 1500 |, 1500
T — =
. . \f/ﬂ‘-\ 14300
=K =8
500 =8 500 =8 500
-10 =10
1] T T T T T T T T 1] T T T T T T T T 1] T T T T T T T T
3d E0 L E] 120 1Z0 180 210 28] =12 3d E0 L E] 120 1Z0 180 210 28] =12 3d E0 L E] 120 1Z0 180 210 28]

MINE—5 18115 MAK=Z 423 Distance from center (km) MIN= -4 BOZ43 MAK=Z 41771 Distance from center (km) MINE-5 5421 MAXS 3 CE63E Distance from center (km)




3500

NN = S0TET WAK=2 BS1ZS

tang wind = gradient wind{m/s), HRO15MMC0

3 0 o 120 150 180 zin 240
Distance from center (km)

3500

MIN==5 FRASY WAK=3 45048

tang wind = gradient wind{m/s), HRO15MMC0

cvl agrad FHR=015

¥

&0

oo 120 1%0 180
Distance from center (km)

T
210

240

tang wind = gradient wind{m/s), HRO15MMC0

%
WIN=—5 7150 NAR=3 47857

&0

oo 120 1%0 180
Distance from center (km)

T
210

240



tang wind = gradient wind{m/s), HRO18MMOO

3500

b |
WIR=—% TE4ES WaX =5 4703

&0

oo 120 1%0 180
Distance from center (km)

cvl agrad FHR=018

tang wind = gradient wind{m/s), HRO18MMOO

3500

b |
WIN=—7 2005 WA =4 S 1Y

&0

oo 120 1%0 180
Distance from center (km)

tang wind = gradient wind{m/s), HRO18MMOO

b |
HIN=—8 B5E58 WK =4 33147

&0

oo 120 1%0 180
Distance from center (km)




tang wind = gradient wind{m/s), HROZ1MMOO

12
3500
o
300 8
i
2500
i
o 2000 L,
E
"-r‘-q-" L]
1500 _—
—
1000
—
500 =B
=14
0 T T T — T T T T
b | 5]  IE] 120 150 180 210 ey i | =12

WIN=—8 1 1458 Wiy =4, 54073

Distance from center (km)

cvl agrad FHR=021

tang wind = gradient wind{m/s), HROZ1MMOO
3500 .
0
300 ]
:
2500
'
< 2000 | ¢
L[‘:I" L]
1500 2
—_—
1300
S
500 =8
=18
1] T T T T T T T T
3d E0 L E] 120 1Z0 180 210 28] =12

WIN=—7 #0007 WX =430

Distance from center (km)

tang wind = gradient wind{m/s), HROZ1MMOO

]
MIN= -G AELE4 WA =4 4 T340

&0

oo 120 1%0 180
Distance from center (km)



3500

WIN=—7 28171 WAx=3 42174

tang wind = gradient wind{m/s), HRO24MMOO

¥

&0

oo 120 1%0 180
Distance from center (km)

T
210

240

3500

WIN=—7 B35 WAy =4, 0G0

cvl agrad FHR=024

tang wind = gradient wind{m/s), HRO24MMOO

3 0 o 120 150 180 zin 240 -12
Distance from center (km)

tang wind = gradient wind{m/s), HRO24MMOO

%
WiR=—E BSAR4 WaK =T 74143

&0

o

Distance from center (km)

120

150

180

T
210

240




3500

tang wind = gradient wind{m/s), HRO27MMOO

i —

%
WIN=—E AT WK =4 32315

&0

o

Distance from center (km)

120

150

180

T
210

240

3500

tang wind = gradient wind{m/s), HRO27MMOO

cvl agrad FHR=027

B

¥

&0

MIN=-B 77318 MAK=3, 77788

o 120

Distance from center (km)

150

180

T
210

240

tang wind = gradient wind{m/s), HRO27MMOO

=

i

%
WIN=— 1ET] WAy =4, 74733

&0

o

Distance from center (km)

120

150

180

T
210

240



3500

WIN=—G 175918 Wiy =4, 78053

tang wind = gradient wind{m/s), HRO3OMMOO

¥

S
EQ

o 120

Distance from center (km)

150

180

T
210

240

3500

tang wind = gradient wind{m/s), HRO3OMMOO

cvl agrad FHR=030

————

-

¥

_
EQ

WIN=— 30442 WA =4, 15301

o

Distance from center (km)

120

150

180

T
210

240

tang wind = gradient wind{m/s), HRO3OMMOO

b | 5]  IE]
WIR=—10, 1368 Wiy =4 BI545

120

150

180

Distance from center (km)

240



3500

WIN=—8 BT Wiy =4, 17006

tang wind = gradient wind{m/s), HRO33IMMOO

% 0 oo 120 1%0 180
Distance from center (km)

240

=14

=12

3500

WIN=—8 20224 WK =1 8720

tang wind = gradient wind{m/s), HRO33IMMOO

cvl agrad FHR=033

e —

¥

0 o

Distance from center (km)

120

150

180

T
210

240

tang wind = gradient wind{m/s), HRO33IMMOO

% £0 90 120 1%0 180
WIN=- 12904 MAK=9.25728 Distance from center (km)

240

=14

=12



3500

tang wind = gradient wind{m/s), HRO3EMMOO

¥

EQ

M= 10 BT WA =4 BAZ T4

o 120

Distance from center (km)

150

180

T
210

240

=14

=12

3500

WIN=—E SI248 WK =4 5021

tang wind = gradient wind{m/s), HRO3EMMOO

cvl agrad FHR=036

¥

— —

.

0 o

Distance from center (km)

120

150

180

T
210

240

tang wind = gradient wind{m/s), HRO3EMMOO

b |
WIN=—13.413 NAE=10,7415

EQ

T T

a 120

150

180

Distance from center (km)

T
210

240

=14

=12



3500

WIR=— 10,7345 WaK =4, 7071

tang wind = gradient wind{m/s), HRO3SMMOO

¥

P Tme———

EQ

a 120

Distance from center (km)

150

180

240

=14

=12

3500

WIN=—8 7441 WA= BEI5

tang wind = gradient wind{m/s), HRO3SMMOO

cvl agrad FHR=039

¥

e — — — e

EQ

o 120

Distance from center (km)

150

180

T
210

240

tang wind = gradient wind{m/s), HRO3SMMOO

b |
WIR=—13 1804 WAx=8 G717

EQ

a 120

Distance from center (km)

150

180

240

=14

=12



3500

WIR=—11.8141 Wix=7, 51083

tang wind = gradient wind{m/s), HRO42ZMMOO

¥

EQ

o 120 150

180

Distance from center (km)

T
210

=14

=12

3500

MiN=—F SENIT WA =4 E3183

tang wind = gradient wind{m/s), HRO42ZMMOO

cvl agrad FHR=042

A

¥

0 oo 120 1%0 180
Distance from center (km)

T
210

240

tang wind = gradient wind{m/s), HRO42ZMMOO

b |
WIR=— 15 8508 WY =3, 54160

EQ

oo 120 1%0 180
Distance from center (km)

T
210

240

=14

=12



cvl agrad FHR=045

tang wind = gradient wind{m/s), HRO45MMO0 tang wind = gradient wind{m/s), HRO45MMO0 tang wind = gradient wind{m/s), HRO45MMO0
3500 . 3500 . 3500
T3 0
300 ] 300 ] 300
: :
2500 2500 2500
' '
o= 2000 £ o= 2000 £ o= 2000
£ ; E. g E
e} e} e}
1500 2 1500 2 1500
- =4
1300 1300 1000
=K =8
500 -8 500 -8 500
-10 =10
. il N e~ W——— . . h_ - :
3d E0 L E] 120 1Z0 180 210 28] =12 3d E0 L E] 120 1Z0 180 210 28] =12 3d E0 L E] 120 1Z0 180 210 28]

MIN= = 136083 MAK=T 64748 Distance from center (km) MINm =11, 6453 MAK=S, 30471 Distance from center (km) MIN=— 16,2005 MAK=1Z 4711 Distance from center (km)



3500

WIN=—12.0831 Wiy =0 52301

tang wind = gradient wind{m/s), HRO48MMOO

i

¥

EQ

oo 120 1%0 180
Distance from center (km)

T
210

=14

=12

3500

WIN==—11. 7183 Wiy =8, 02551

tang wind = gradient wind{m/s), HRO48MMOO

cvl agrad FHR=048

¥

e — L

0 oo 120 1%0 180
Distance from center (km)

T
210

240

tang wind = gradient wind{m/s), HRO48MMOO

b |
WIN=— 18,0008 Wiy =030

.

0 oo 120 1%0 180
Distance from center (km)

T
210

240

=14

=12



tang wind = gradient wind{m/s), HROS1MMOO

3500

]
NIN==12 T3 WA} =8 3050

EQ

———

oo 120 1%0 180
Distance from center (km)

=14

=12

cvl agrad FHR=051

tang wind = gradient wind{m/s), HROS1MMOO

3500

b |
WIN=—11, 7243 Wiy =8 75062

0 oo 120 1%0 180
Distance from center (km)

T
210

240

tang wind = gradient wind{m/s), HROS1MMOO

b |
WIN=— 17,0704 WK =117 4454

EQ

L—.----—_

 IE] 120 150 180
Distance from center (km)

T
210

240

=14

=12



tang wind = gradient wind{m/s), HROS4MMOO

3500

i)
NIN==1Z.G7TeF MAX=(. 53022

EQ

———

oo 120 1%0 180
Distance from center (km)

T
210

=14

=12

cvl agrad FHR=054

tang wind = gradient wind{m/s), HROS4MMOO

3500

WIN=—17,182% WAX=0. 77757

1300
19400
200 ,

Distance from center (km)

= - 2.
- - — - -
¥ ] el 120 120 1BO 210 ol o

tang wind = gradient wind{m/s), HROS4MMOO

b |
WIN=—17. 4338 Wiy =1085363

EQ

 IE] 120 150 180
Distance from center (km)

T
210

240

=14

=12



3500

WIN=—13.3078 Wix=7, A2

tang wind = gradient wind{m/s), HROS7MMCO

¥

EQ

oo 120 1%0 180
Distance from center (km)

T
210

240

=14

=12

3500

tang wind = gradient wind{m/s), HROS7MMCO

cvl agrad FHR=057

¥

e ——— _— e Teewe—
T —— T

EQ

IR =10 ERRS WAK =S 5TR07T

a

120

150

180

Distance from center (km)

210

240

tang wind = gradient wind{m/s), HROS7MMCO

i)
NIN= =15, 34035 WAX=g, SO300

— e

0 oo 120 1%0 180
Distance from center (km)

T
210

240

=14

=12



tang wind = gradient wind{m/s), HROGOMMOO

3500

R —

% £0 90 120 1%0 180
MINE - 13 BIES MAKST, 4054 Distance from center (km)

=14

=12

cvl agrad FHR=060

tang wind = gradient wind{m/s), HROGOMMOO

tang wind = gradient wind{m/s), HROGOMMOO
3500 - 3500
1+
300 8 300
G
2500 2500
i
— 2000 £ — 2000
£ o £
r r
1500 . 1500
=4
1300 1000
=&
500 ol 500
=14
R —— e i .
0 - - 0
% ) 90 120 1% 180 210 240 -12 %
NIN= - 1068063 MAK=S, 41003 Distance from center (km) MINm =14, 3064 MAK=T 35957

..“.—-—_

0 o 120 150 180 zin
Distance from center (km)

240

=14

=12



3500

WIN=— 14,3508 Wiy =10 1084

tang wind = gradient wind{m/s), HROG3IMMOO

¥

e T

0 o 120 150 180 zin
Distance from center (km)

=14

=12

3500

WIN=—12.041% Wiy =15 Ba7A3

tang wind = gradient wind{m/s), HROG3IMMOO

cvl agrad FHR=063

¥

e ———

0 oo 120 1%0 180
Distance from center (km)

T
210

240

tang wind = gradient wind{m/s), HROG3IMMOO

0 T T
0 b | 5]  IE] 120 150 180 210 ey i |
Distance from center (km)

WIN=— 157974 Wiy =8, 1273



tang wind = gradient wind{m/s), HROGEMMOO

3500

b |
WIR=— 107034 Wiy =4, 70208

EQ

oo 120 1%0 180
Distance from center (km)

T
210

=14

=12

cvl agrad FHR=066

tang wind = gradient wind{m/s), HROGEMMOO

tang wind = gradient wind{m/s), HROGEMMOO

1500 X 1500
in
300 5 300
i
2500 2500
i
p— 2000 z p— 2000
£ " £
=i =i
1500 % 1500
=i
1000 1000
=&
500 ol | 500
=1
il ..
B T T T = B
¥ ] el 120 120 1BO 210 ol o =12 ¥

WIR=—13.00M8 Wiy =15 15253

Distance from center (km)

WIR=—17.8311 WA =045

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12



3500

WIN=— 10,8747 Wax=11.5730

tang wind = gradient wind{m/s), HROGIMMOO

¥

L_--_-.

5]  IE] 120 150 180 210 ey i |
Distance from center (km)

=14

=12

tang

cvl agrad FHR=069

wind = gradient wind(m/s), HROBIMMOO

3500

1300
19400
200

e

WIN=—11.8821 WK =7 02034

¥

5]  IE] 120 150 180 EiIJ ey i |
Distance from center (km)

tang wind = gradient wind{m/s), HROGIMMOO

b |
WIN=— 10,4273 Wax=11.187%

EQ

 IE] 120 150 180
Distance from center (km)

e -
T T
210 240

=14

=12



3500

MIN=-10. 230

tang wind = gradient wind{m/s), HRO72ZMMOO

/]

- rr r 0 0

I

MAR= 12 7200

180

Distance from center (km)

=14

=12

3500

tang wind = gradient wind{m/s), HRO72ZMMOO

cvl agrad FHR=072

¥

EQ

WIN=—11.7TE3 Wiy =" 3138

a

120

120

180

Distance from center (km)

T
210

240

tang wind = gradient wind{m/s), HRO72ZMMOO

b | 5]  IE] 120 150 180 210 ey i |
Distance from center (km)

WIR=—1%. 7804 Waix=12 TIAT

=14

=12



3500

WIR=— 10,7855 Wix=115212

tang wind = gradient wind{m/s), HRO75MMC0

¥

L‘.—-—.—-u

.

0 o 120 150 180 zin
Distance from center (km)

240

=14

=12

3500

tang wind = gradient wind{m/s), HRO75MMC0

cvl agrad FHR=075

¥

EQ

WIN=—13.0771 Wiy =15 54470

a

120

120

W=

180

- T
210 240

Distance from center (km)

tang wind = gradient wind{m/s), HRO75MMC0

b |
WIR=— 10,3502 Wax=108373

i e .

5]  IE] 120 150 180 210 ey i |
Distance from center (km)

=14

=12



tang wind = gradient wind{m/s), HRO7BMMOO

3500

—el———

% £0 a0 120 150 180
MIN=- 15,1251 MAK=12 06287 Distance from center (km)

T
210

=14

=12

3500

WIR=—13, 145

cvl agrad FHR=078

tang wind = gradient wind{m/s), HRO7BMMOO

i)
MAR=Z TOZZA

EQ

oo 120 1%0 180
Distance from center (km)

T
210

240

tang wind = gradient wind{m/s), HRO7BMMOO

b |
WIN=—13. 7473 Wiy =4, 42483

RS

5]  IE] 120 150 180 210 ey i |
Distance from center (km)

=14

=12



3500

WIN=—17. 8045 Wix =14 8703

tang wind = gradient wind{m/s), HROB1IMMOO

¥

al———

5]  IE] 120 150 180 210 ey i |
Distance from center (km)

=14

=12

3500

cvl agrad FHR=081

tang wind = gradient wind{m/s), HROB1IMMOO

¥

WIN=- 138337 MAK=0.0832

S

5]  IE] 120 150 Ié-l:l 210 ey i |
Distance from center (km)

tang wind = gradient wind{m/s), HROB1IMMOO

b |
WIR=— 14, 5204 WAX =T RARTY

EQ

 IE] 120 150 180
Distance from center (km)

210

240

=14

=12



tang wind = gradient wind{m/s), HROB4MMOO

3500

b | 5]  IE] 120 150 180
Distance from center (km)

WIN=—18.7811 WAx=11.377

210

=14

=12

cvl agrad FHR=084

tang wind = gradient wind{m/s), HROB4MMOO
3500
300
2500
o 2000
£
P
1500
1000
500
P SRS —
u.
b | 5]  IE] 120 150 180 210 ey i |
MINE=- 126775 MAK=S, GR06] Distance from center (km)

tang wind = gradient wind{m/s), HROB4MMOO

W
WIN=— 15,3030 MAX=F, 13359

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12



3500

WIN=— 18,7205 Wix=3.53811

tang wind = gradient wind{m/s), HROB7MMOO

¥

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12

3500

WIN=— 13,4088 WAX=7,00818

cvl agrad FHR=087

tang wind = gradient wind{m/s), HROB7MMOO

¥

_—*ﬂ—_—-

5]  IE] 120 150 180 210 ey i |
Distance from center (km)

tang wind = gradient wind{m/s), HROB7MMOO

b |
WIN=—17, 7552 Wax=11.0070

EQ

a 120

Distance from center (km)

120

180

210

=14

=12



3500

WIR=—18, 1981 Wy =10.0202

tang wind = gradient wind{m/s), HROSOMMOO

¥

_-h—_.__A

5]  IE] 120 150 180 210 ey i |
Distance from center (km)

=14

=12

3500

WIN=— 14,742

cvl agrad FHR=090

tang wind = gradient wind{m/s), HROSOMMOO

i)
MAK=T GO338

EQ

 IE] 120 150 180
Distance from center (km)

210

tang wind = gradient wind{m/s), HROSOMMOO

b |
WIN=—17, 5308 Wiy =12 3488

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12



cvl agrad FHR=093

tang wind = gradient wind{m/s), HRO93MMOO tang wind = gradient wind{m/s), HRO93MMOO tang wind = gradient wind{m/s), HRO93MMOO
3500 . 3500 . 3500
T3 0
300 ] 300 ] 300
: :
2500 2500 2500
' '
o= 2000 £ o= 2000 £ o= 2000
£ ; E. g E
e} e} e}
1500 2 1500 2 1500
- =4
1300 1300 1000
=K =8
500 -8 500 -8 500
A—_._ o e ST N——— o
u T T — u'—|_|—|—|—|_|—|—|_ u'
3d E0 L E] 120 1Z0 180 210 28] =12 3d E0 L E] 120 1Z0 180 210 28] =12 3d E0 L E] 120 1Z0 180 210 28]

MIN=- 17,378 MAX=R, 71208 Distance from center (km) MIN= - 16,0776 MAK=S, 13065 Distance from center (km) MIN=— 184855 MAK= 115363 Distance from center (km)




tang wind = gradient wind{m/s), HROSE6MMOO

3500

3
MIN=—18. 1708 MAE=10.TEGT

. o

5]  IE] 120 150 180 210 ey i |
Distance from center (km)

=14

=12

cvl agrad FHR=096

tang wind = gradient wind{m/s), HROSE6MMOO

3500

%
WIN=—17 B108 Wiy =10 TR+

&0

 IE] 120 150 180
Distance from center (km)

210

tang wind = gradient wind{m/s), HROSE6MMOO

b |
WIN=—17.7137 Wax=11.9871

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12



tang wind = gradient wind{m/s), HRO93MMOO

3500

b |
WIN=— 18,0012 Wax=12 841

P Nmme—

5]  IE] 120 150 180 210 ey i |
Distance from center (km)

=14

=12

cvl agrad FHR=099

tang wind = gradient wind{m/s), HRO93MMOO

3500

b |
WIR=— 188135 Wax=10.3013

EQ

 IE] 120 150 180
Distance from center (km)

210

tang wind = gradient wind{m/s), HRO93MMOO

EQ

b |
WIN=—21 4008 WAX=10.2717

 IE] 120 150 180
Distance from center (km)

210

_L-‘

240

=14

=12



3500

WIN=—17 5708 Wax=13 1054

tang wind = gradient wind{m/s), HR102ZMMOO

¥

PTIIN——

5]  IE] 120 150 180 210 ey i |
Distance from center (km)

=14

=12

cvl agrad FHR=102

tang wind = gradient wind{m/s), HR102ZMMOO

3500

e —

% ) 90 120 1% 180 210 240
NIN= - 164505 MAK= 100883 Distance from center (km)

tang wind = gradient wind{m/s), HR102ZMMOO

b |
WIN=—21, 1063 Wax=11.0133

EQ

 IE] 120 150 180
Distance from center (km)

210

.A—_..

240

=14

=12



tang wind = gradient wind{m/s), HR105MMC0

3500

b |
WIN=—15,. 1015 Wax=1473482

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12

cvl agrad FHR=105

tang wind = gradient wind{m/s), HR105MMC0

3500

b |
WiIR=— 18,7058 Wax=11.1388

il

1] a 120 120 180 210 240

Distance from center (km)

tang wind = gradient wind{m/s), HR105MMC0

EQ

b |
WIN=—21,53148 Wix=12 8277

 IE] 120 150 180
Distance from center (km)

210

,A-‘

240

=14

=12



tang wind = gradient wind{m/s), HR108MMCO

3500

b |
WIR=— 18,8123 Wiy =13 2004

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12

cvl agrad FHR=108

tang wind = gradient wind{m/s), HR108MMCO

3500

b |
WIR=— 18 ESS WK =1 2041

EQ

 IE] 120 150 180 210
Distance from center (km)

tang wind = gradient wind{m/s), HR108MMCO

% ) 90 120 1% 180
MIN=-F0.0755 MAK=1Z 6086 Distance from center (km)

210

=14

=12



3500

WIN=— 15, 1127 WA= S 4050

tang wind = gradient wind{m/s), HR111MMCO

¥

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12

3500

MWIN= = T4

cvl agrad FHR=111

tang wind = gradient wind{m/s), HR111MMCO

b |
MAE=17. TERE

&0

 IE] 120 150 180
Distance from center (km)

210

tang wind = gradient wind{m/s), HR111MMCO

b |
WIN=— 15,0773 Wiy =10 1853

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12



3500

WIN= =20 4758 Wiy =13 435

tang wind = gradient wind{m/s), HR114MMOO

¥

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12

cvl agrad FHR=114

tang wind = gradient wind{m/s), HR114MMOO

3500

b | 5]  IE] 120 150 180
Distance from center (km)

WIR=— 15,8131 WA =4, 1054

tang wind = gradient wind{m/s), HR114MMOO

b |
WIN=—15.5%01% WAX=109277

EQ

 IE] 120 150 180
Distance from center (km)

=14

=12



3500

tang wind = gradient wind{m/s), HR117MM00

¥

WIN=— 18,7857 WK =10 2054

EQ

 IE] 120 150 180
Distance from center (km)

210

g S

240

=14

=12

cvl agrad FHR=117

tang wind = gradient wind{m/s), HR117MM00

3500

i) 1]

WIN=— 15,7507 WX =12 305

 IE] 120 150 180 210
Distance from center (km)

i — |

240

tang wind = gradient wind{m/s), HR117MM00

b |
WIN=—17. 7208 Wax=133088

EQ

 IE] 120 150 180
Distance from center (km)

=14

=12



tang wind = gradient wind{m/s), HR120MMCO

3500

b |
WIN=—17.700% Wax=10.1183

EQ

 IE] 120 150 180
Distance from center (km)

210

=14

=12

cvl agrad FHR=120

tang wind = gradient wind{m/s), HR120MMCO

3500

b |
WIR=— 15,5381 Wiy =12 0253

EQ

 IE] 120 150 180
Distance from center (km)

tang wind = gradient wind{m/s), HR120MMCO

b | 5]  IE] 120 150 180
Distance from center (km)

WIR=— 18,0100 Wax=117.1138

210

=14

=12



cvl agrad FHR=123

tang wind = gradient wind{m/s), HR123MMCO0 tang wind = gradient wind{m/s), HR123MMCO0 tang wind = gradient wind{m/s), HR123MMCO0
3500 . 3500 . 3500
T3 0
300 ] 300 ] 300
6 6
2500 2500 2500

E E
e [ ] gt L]
ra ra
1500 % 1500 -
- =4
14300 130
=K =8
300 ol 300 ol
=14 =14
0- 0- §
] ) a 120 120 180 240 =12 ] ) a 120 120 180 210 240 =12 ] ) a 120 120 180 210 240

NIN=— 18,6853 MAK=F, 00093 Distance from center (km) MINE-F0.0246 MAK= 10 6BZ) Distance from center (km) MIN==17.6122 MAK=F, 61628 Distance from center (km)




tang wind = gradient wind{m/s), HR126MMC0

3500

W
WIN=- 10,2980 MAX=10.3274

5]  IE] 120 150 180
Distance from center (km)

=14

=12

3500

tang wind = gradient wind{m/s), HR126MMC0

cvl agrad FHR=126

¥

WIR=— 15, 1564 WK =8, 78351

EQ

 IE] 120 150 180
Distance from center (km)

210

WIN=—15.207

tang wind = gradient wind{m/s), HR126MMC0

%
MAE =10, 1557

&0

 IE] 120 150 180
Distance from center (km)

=14

=12



